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Why, / then, / do women'’s clothes have buttons on the left, / even though

most women are also right-handed?
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Therefore, / <to make it easier for the servants>, / buttons were put on the left.
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1. It is easy for right-handed men to use the right hand when buttons are on the right side of their clothes.

(
2. Women'’s clothes have buttons on the left because most women were left-handed in the past. (

3. It was easier for the servants to help button up women's clothes when buttons were on the left.
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0.2 : It is easier for them to use the right hand when buttoning up. [ 5IC& > T, KX ZMNFZHEC
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Ex. It was not easy for him to get used to the new school. [1Z & - CTH LW ZERICEN S DI FH T3
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Ex. When (you are) in Rome, do as the Romans do. [B—<IC5% & &, B—YANTEEIICLATN
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Ex. Even though he didn't like classical music, Jim went to the concert because his girlfriend liked it. [/ 2s
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Ex. Even though they lost the game, they never gave up their dream. [ZOAEITIFET TLUE oA, 1§
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Ex. He made the problem more difficult by citing another example. [{%IZHDOFI 25 Z &ick>T, 2D
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